AR R

T = 2 EELEEKEMRSREIS
18 T B#BEET T LA A
A = B B 202157830H(%) 9:00
AK BT H AR (BFALCRTL)
E S = £ 1 2 Bz
1 FERBEILEE K& KA
46,728,000
2 (HEEREH K& K4
46,806,000
3 Sra—RERGE) K& %4
46,676,000
4 EFEEBGE K& L3
46,778,000
5 (BfagmRBTE R iR
6 | KRETEGE) K& %iE
46,730,000
7 YNH IR K& K&
46,817,000
8 EBEEBRGH iR R
9 (MkmAEH K& %4
46,775,000
10 | FHEO T Z3GR) KiE K&
46,825,000
11 | ARA K% K&
46,770,000
12 WTFEIBERE) AL
46,848,000
13 (MRE K& K4
46,830,000
T EEE CEBBIRS) ¥52,730,000
SIESIRMIECEEFIRE) ¥46.841,000
% L F AILEGCE LR ¥46,848,000
WTE TEIF#EE) EHEEZE(10 WNE) ¥51,532,800
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SRR MERBRIE

T =1 4
1% o 8BEETh FIES A
A AL & B B | 2021F7830H(%) 9:20
AW BITER (BFALVRTL)
ES & £ 1 2 3 %
1 |()E@EME K& K&
6,988,000
2 BRAEHKE) FEHL
7,014,000
3 EHTEGR K& K&
6,985,000
4 [(BRXE
7,020,000
5 (BEOIRKE K& 545
7,008,000
6 (EAREBEIE iR R
7 BT/ e %1
7,003,000
8 KEEBE)
7,028,000
9 BELARGER TR R
10 | ()B4 4
7,017,000
11 |#R)IZTEEKR KA Sk
6,993,000
12 | I EGRR
7,037,000
FEME CHEERIRE) ¥7,988,000
RIEHI BRMECHETRIRE) ¥7,009,000
(E#HE)
% L F AILEGCE LR ¥7,014,000
B A2 5% (/) EHEEZE(10 WNE) ¥7,715,400
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LW D =K FIPRf4E : 7,038,000



AR R

T = g BEARESEMLERBREIS

15 B BEEThFRED A

A = B B 202157830H(%) 9:40
A KL ¥ 4T 5 BT (BFALLRTL)

E S = £ 1 2 3 Bz
BRBHIEE)

35,890,000

HEETVY KHE KA
35,819,000

()P0 EAL
35,868,000

GRS O Ki& Rig
35,800,000

LT % TR Se(kE) iR iR

F M CHERIRE) ¥39,800,000

B8 5B CY B B kE) ¥35.844,000

(EH%)
% L F AILEGCE LR ¥35,868,000
(%) FH#0 EHEEZE(10 WNE) ¥39,454,800

LW D B K Hi| BRf 4% : 35,968,000
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T = g RBHNMNEBRAEBEERZEMIUETS
18 o EBEETH FTREHF A

A ¥ & A H 20214%E78308(%) 10:00

AK BT H AR (BFALCRTL)

ES & 1 2 Bz
SHIZH) R #iR
#KEIKE

15,982,000
DTS
15,892,000
HORB TS
16,000,000
U a—Ba%) iR iR
HBOERRTE
15,858,000
() A th T AL
15,848,000
AL EREAF () KH% %4
15,730,000
EETEG)
15,897,000
F M CHERIRE) ¥17,740,000
SR SRR MR CY B R RE) ¥15.838,000
% L F AILEGCE LR ¥15,848,000
(BHEBP THE EFEE (10 WNE) ¥17,432,800
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FH/NERAFEE LHKRETE

T =1 4
15 o BEEhm FAHE A
A ¥ & A H 20214%E78308(%) 10:20
AK BT H AR (BFALCRTL)
E S = £ 1 2 hE
MBERIFEE
8,763,000
() N TS K& KA
8,744,000
(BZRBEE KA %4
8,742,000
AR GE) EHL
8,749,000
i} - 3E45:4679) KHE %A%
8,630,000
(B PR TH5 05
8,760,000
F iR CEERIRE) ¥9.830,000
SR SRR MR CY B R RE) ¥8.746,000
% L F AILEGCE LR ¥8,749,000
A (k) EFEE (10 WNE) ¥9,623,900
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FIXAM1 SRthTA—FERRXBHELISE

T =1 4
15 o BT A
A ¥ & A H 20214%E78308(%) 10:40
AK BT H AR (BFALCRTL)
E S Z £ 1 2 Bz
1 (B)hEEs %45 KA
3,820,000
2 ENBREIZGRD) K& K4
3,816,000
3 | KRS 5B iR
4 | (\E)imHE iR R
5 (B74-1T2 & %
6 (B)YUFx iR iR
7 | ERMEBRGR EHL
3,825,000
8 | KREEHGR
3,829,000
9 (BFHRLEA iR iR
10 | fEER T2
3,833,000
11 | (BREHR iR R
12 SBEEEA(K) R #iR
T EEE CEBBIRS) ¥4.390,000
SRR MECY BFIRE) ¥3.825,000
% L F AILEGCE LR ¥3,825,000
EMREGR EALEEE (10 %NE) ¥4,207,500
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15 o EBEhmTFLRHA
A ¥ & A H 20214%E78308(%) 11:00
AK BT H AR (BFALCRTL)
E S = £ 1 2 Bz
1 EERFIE K& K%
6,327,000
2 (BEEMEII— K& K4
6,326,000
3 ERIE®R K& K&
6,290,000
4 BUNATHE K& %4
6,330,000
5  (MEHIE K& K4
6,322,000
6 MAEHRE) K& %iE
6,303,000
7 BF YRR TE K& %Kik
6,315,000
8 | EORE®RG K& %HE
6,330,000
9 (BEmM EHL
6,337,000
10 |[((B)HRLER K& e
6,328,000
11 | (B)ARBE%
6,349,000
T EEE CEBBIRS) ¥7,260,000
SRR MECY BFIRE) ¥6.337,000
% L F AILEGCE LR ¥6,337,000
\)Z=HEA EHEEZE(10 WNE) ¥6,970,700
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MBBRAILY LT E

T kS £
15 o BEETh FHE A
A ¥ & A H 20214%E78308(%) 11:20
AK BT H AR (BFALCRTL)
E S = £ 1 2 Bz
1 ((BRFETHE K& Sk
23,077,000
2 | (BOREA K& K4
23,070,000
3 (BhES K% SR
23,095,000
4 (HRiEEE K& L3
23,046,000
5  (B/INSIHE K& K4
23,103,000
6 /MUTEE) KiE K&
23,138,000
7 #RVI K& £
23,111,000
8 | RETEMHkR) KA Fy:3
22,986,000
9 AOREGH K& %4
23,108,000
10 |(BR)EHE
26,260,000
11 | REME K& K&
23,075,000
12 (BRI K& L3
23,163,000
13 dL#&RBAF () EHL
23,186,000
14 |(BR)/KIBT % K& e
23,041,000
15 (BORH K& r3
23,097,000
T EEE CEBBIRS) ¥26,263,000
SRR MECY BFIRE) ¥23.167,000
% L F AILEGCE LR ¥23,186,000
At E&BBAFE (#%) EFEE (10 WNE) ¥25 504,600
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